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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 g Rt TR et @ Ot S § o Fewfe It @ e o
Rt et 22

When a compressed slinky is released it converts potential energy into:

Ans X1_3ﬁﬂﬂﬁ|‘r

Heat energy
, T S
Mechanical energy
, T S
Chemical energy

v aifas F=r
Kinetic energy

x

x

Question ID : 9864493582
Status : Answered
Chosen Option : 4

Q.2 yromafas 7ol #E A3eha A Hia & T a@ a1 W o e R

B

Among chemical properties, Mendeleev concentrated on the compounds formed by the
elements with:

Ans 7" BTEESA A A=A
Hydrogen and Oxygen
o FTEgIi 3R WifEaH
Hydrogen and Sodium

. FaT AT gEgaT

Carbon and Hydrogen

x4.m3ﬂimﬁm¢

Carbon and Sodium

x

Question ID : 9864493373
Status : Answered
Chosen Option :1

Q.3

Question ID : 9864494245
Status : Answered
Chosen Opf’
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fafee & @)

d9dcy:
m:mﬁmm#%%aﬁrqﬁ'?%t

AT

I oieT 3fE & aTaeE o TEETE SERT AT T THE a2
Il aftgger & 3w T o fe # iy axar

Consider the given statement and decide which of the given assumption(3) is (are)
implieit.

Statement:
The train fares have increased by 25% with immediate effect.

Assumptions:

I.  People still prefer travelling by train degpite the increase.
II.  Other modes of commutation may also increase their fares.

Ans x1_mm2 IGIEGERD

Only assumption IT is implicit.
1 3R 2 At fafee =@ 2
Neither assumption I nor 1T is implicit.
| el Feaar 1 AR

Only assumption I is implicit.

1 3R 2 A=t Bafe &

x

v

x
Both assumptions I and IT are implieit.
Q.4 & gerreE & UEEE 0.768 ¥ uﬁu;a@;aawigs %gq‘:ﬁmm
Fifav)

The product of two decimals is 0.768. If one of the decimal number is 1.6, find the other.
Ans  of 1.0.48
X 2037
<3042
K 4047

Question ID :

Status
Chosen Option

9864492561

:Answered
1

Q.5 g gEash & qUeEe 0432 §1 I e wEAr 1.6 @ & gul wew a2 g7

Question ID : 9864492961
The product of two numbers is 0.432. One of the numbers is 1.6. What is the other
number? Status : Answered
Ans x 1. 2 7 Chosen Option : 4
~ 2.0.027
~ 327
v 4027
Q.6 maAY 10 #HeX & v 3car F 37 woror ¢ 3 BT v #A=ar & 1 T,
. %‘ ks & - Question ID : 9864494287
B¢ 5T 8, 4 A A g T oA &, A Az § AR 6 Froieler 7w Status : Answered
Tl g 3@ ®@AY R e i i Ay A ? ’
¥ = g P Chosen Option : 4
Samarth heading towards north turns right after walking 10m, he tums right again walks
for 4 meters and then he turns left and walks 6km. In which direction he is walking?
Ans qﬁ;ﬁ:‘.
.
West
X 2 CISSEd
g @ Teachingninja.in




< 3. cfa

South

v =
East

AT et AT i A T = Y @ B Am @

The sum of two fractions is Z. One of them is %. What is the other fraction?
Ans - 2
X=
(2.
X 3
X a4

= NN B @
DlH a |F

Question ID : 9864492901
Status : Answered
Chosen Option : 2

Q.8 g 7l FFHF AT F 15 % % Forqrdr o7 3T A9 7 60 yanfer oye wt ww Em |
FIE &1 TRE FE T 2,210 B 797 AT &, 3 SHhr A 37T e i

Veer spends 15% of his monthly income on the house rent and 60% of the rest on
household expenditure. If he saves T 2210, what is his monthly income?

Ans X 1. T 8,000
X 2. T 7,000
X 3.T 7,500
W 4+ T 6,500

Q.9 s wuele ARer wvE A, Rea vydfeaw dRTERT & @l wgw Shew |

dler TUH G ST a9 SOgE W ¢ 39 Ee #ar ur?

Indian athlete Neeraj Chopra created history by becoming the first Indian to get gold ina
world athletics championship. What was his sport?

Ans o &g
X o
Long jump

, e &
Shot put

x 5 T el
Discus throw

, STl ek

Javelin throw

x

4

Question ID : 9864492607
Status : Answered
Chosen Option : 4

Question ID : 9864492289
Status : Answered
Chosen Option : 4

Q.10 o= i o7 TH €T F 20 TFHRT oA B 25 e & i a7 e
3T =aem?
A Lawn roller makes 20 revolutions in one hour. The radians it runs through 25 minutes is

Ans x 1 %

Question ID : 9864492476
Status : Answered
Chosen Option : 4

7

- 150
2 phanaty
X2 =

. 250m
3. ——
K=

o0x
N
) 3

Q.11

Question ID : 9864494121
Status : Answered
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R T fTged & ¥ w9 Rl admmer § 2 @ aReeia = F

fore swgaT &7

122 + 345 -1 % 1011 =+ 337 = ?
Select the option that can replace the *?* symbol in the following equation.

122+345 -1 x 1011 +337=17

ans X 1. 446
X 2 644
X 3 460
v 1 464

Chosen Option : 4

Q2 gy foT & g, S e REw Fr e dar @

Problem Figures

Question ID : 9864493680
Status : Answered
Chosen Option : 3

Ans

VIAl)] ?

A B C D
Answer Figures
N[
C ¢ O[OV ¢ O
1 2 3 4
Choose the correct figure to replace the question mark.
Problem Figures
sU®
\/ /] ?
ANIR R
A B C D
Answer Figures
N[N
C ¢ O[O ¢ O
1 2 3 4
S|
~23
V2
X4

Q.13 Feag faww e ‘wFrg Hftgaw Bl e o doF g e

Ans

T 22

The science fiction book * The Extra-Terrestrial Delivery® is penned by which Indian

guthor?

Herear g

i ?

Sudipta Das

Xz_aﬁm?haa‘r

Wamitha Ghokhale

Question ID : 9864492331
Status : Answered
Chosen Option : 4
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X3 AT FAT
Anosh Irani

5 ORI g

Samit Basu

Q14 frg gfm fFew B3R 3 afefedr @ 2017 & 9o TEE AT T
R qER Sar 32

Which famous film actress and celebrity won the FETA *Person of the Year’ award in
20177

Ans

(LWJ QTHT

Anushka Sharma
. rgerr Sa=T
Priyanka Chopra
S aferT &g
Alia Bhatt
- &rfireRT dTEERIOT

Deepika Padukone

x

x

Q.15 = warer i v B30T v HWEE Aead ¥ BNe AewH # O #44r B AT O
B e & g 17

‘When a ray of light travels from a denser medium to a rarer medivim, it bends:

Ans x.1_34‘r'§4?»|ﬁ£f T TT AfT 9% ST
towards the normal and speeds up
| e @ 3R Fur ol @ o
towards the normal and slows down
| e W A F A
| away from the normal and speeds up

x,_4m‘r§:mﬁgamzhﬁg’rm%

away from the normal and slows down

x

v 4

Question ID : 9864492303
Status : Answered

Chosen Option : 4

Question ID : 9864493224
Status : Answered
Chosen Option : 3

Q16 3t AefF 2016 H 9T & BT cg=awgs FiF v
Who was the flag bearer for India at the 2016 Rio Olympics?

Ans -
(1_31‘@331%?5

Abhinav Bindra
x ,, TSl g
Saina Nehwal
X3 Trefr wfew
Sakshi Malik
| Ry
P.V. Sindhu

x

Question ID : 9864492270
Status : Answered
Chosen Option : 1

N afafee # @ #ia € urg 1 =7 & e 51 Jar 82
The metal that can be cut with a knife is:

Question ID : 9864493111

Status : Answered
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Chosen Option : 1

Ans ofETH

Aluminium

GICH

>~ 4
Copper

Q.18 ey e fEeiar R & T Tl gt &1 ereana & o, fomer
g H ARG TS FEE & FY 3edis W & o ar?

Which is the political party started by Telugu film actor Chiranjeevi, who later merged it
with the Indian Naticnal Congress?

Question ID : 9864492177
Status : Answered
Chosen Option : 4

Ans x, 7 aToT ardt
Nava Nirman Party
2 3T SES et
Andhra Pride Party
| v
| Telugu Desam Party

| ST T e
Praja Rajyam Party

x

*

v

Q.19 (
afer & oiewR, mh Je ot F el 97 F GFae sowge B 82

Except Helium, all noble gases have how many electrons in the outermost shell?

Question ID : 9864493514
Status : Answered
Chosen Option : 3

Ans X 1. 4
V28
<36
<410

Q.20 =zafiym avgs €7 & vafea = 38 R o1 w7 & afome @ F |
T uged aar & Fr FForar 67

The tendency of imdisturbed objects to stay at rest or to keep moving with the same
velocity is called ;

Question ID : 9864493619
Status : Answered
Chosen Option : 1

Ans agﬁ'
Vi

inertia
~ 2 HadT
momentum
X 3 Sl
energy
dol

force

X4

Q.21 a§ 2017 & #IRT & v Tgss 3Rk Ager 9lews (@e=h) & &9 &7 e
FHENR 7Igor T 32
Who took charge as the new Comptroller and Auditor General (CAG) of India in 20177
Ans

Question ID : 9864492295
Status : Answered
Chosen Option : 1
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2<1.3FJE'§ﬂﬂ?'EEﬁﬁ#
Achal Kumar Jyothi
WSS FAR
ngmunfammn
, = i
Vivek Goenka
4. e ﬂ%’ﬁ'

Rajiv Mehrishi

x

x

v

Q.22 grgz vert &7 T i F I & e e 37 4 foew v o 3o fear
Farg?
Which of the following gases is used to prevent food material from getting oxidised?

Ans i
?<1.3ﬂ3¥ﬁEﬁT

Oxygen

FALA
Chlorine

ASErTA

Nitrogen

GESEC

| Hydrogen

> 2

W 3

X4

Q.23 3fy 2sec®x - tan®x = 5 3R 0° < x < 90° @ @ x & AW FT 27|
If 2sec’x — tan®x = Sand 0° < x < 90° thenx =2

Ans J 1. 600

Question ID

9864493209

Status : Answered

Chosen Option

:3

Question ID
Status

Chosen Option :

19864492837
:Not Answered

X 2.90°
< 3.30°
X 4.45°

ey | Aal | ——

Question ID
Status
Chosen Option

19864494097
:Answered
1

6, 12, 20, 32, 42, 56, 72
Select the WRONG number from the given series.

6, 12, 20, 32, 42, 56, 72
Ans ‘( 1.32

<220

K372

< 456

Q.25 =faf@a & & 97 o1 vF Woidr F F F o F 9reeT 9o T § 2
Which one of the following derives nutrition from plants as a parasite?

Ans

Question ID :

9864493296

Status : Answered

Chosen Option : 4
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x.1_mﬁm$rmsﬂd’r

Malaria Parasite

~ 2 E‘r‘

Lice

TR ATH (Bryophyllum)
| Bryophyllum
hHTICT (Cuscuta)

X 3

W 4
Cuscuta

Q.26 3iF & TTH & IHFER, = (I T wenfaT
9o W e () e e M) e Question ID : 9864493606

& &
; ; . — . Status : Answered
According to Ohm’s law, if current (T) increases and potential difference (V) remains
constant_ then: Chosen Option : 4
Ans gferrer aafEfda war
&1 %

resistance unchanged
o, ST & & S §
resistance decreases
X frsraray ue amar &
potential difference decreases
5 , FTeRTe wga &

resistance increases

x

Q.27 - =
e | e | Rita | ey | g S Question ID : 9864493954
& st w1 % Status : Answered
A 200 150 50 - Chosen Option : 2
B - 200 100 66.6
c 150 50 100
D 120 - 50 25
fow T e F au w, oY ¢ F T et @ et ¥ (=
EHEE e qUITehd HITaa)|
City | Population | Literate | Iliterate | % of
literates
A 200 150 50 -
2] = 200 100 66.6
c 150 50 100
D 120 = 90 25
Based on the given data, the percentage of literates in City C is (round to one
decimal).
Ans X 1.33.4
v 2333
X 3345
X 4323

Q.28
Question ID : 9864493941

Status : Answered
Chosen Option : 3
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[ —— am= (3 ——=  Athletic

A s [ JE——— ]

Boys - ®15% Girls - @5faT Athletic - R&=mET Disciplined - snfia

FX BT o7 &= smw A, 39 wemst 7 A Feer & = 57 Renteet &
oot # < srpanfRe ft #2

— = Athletic

] —— Discipliaed

In the above Venn diagram, what is the sum of the numbers that reprezent all those
athletes who are not disciplined?

Ans X111
X213
V516
X427

@29 g fowseT ganr See 21T ¥ |

reproduces by multiple fission. ‘

Question ID : 9864493455
Status : Not Answered

Chosen Option : ==

Ans m
W .

Plasmodium
| TSATT
Rhizopus
& s WHR
Yeast

ol [T

Planaria

N2

~ 4

Q.30 v 150 #Hex 7= & 54 TFemeer gy ¢ # WA ¥ =e0 g0 RRer
TS 42 Ueher # 9T T T § O e f s w1 o

A 150 m long train, travelling at 54 kmv/h, crosses a platform in 42 seconds. What is the
length of the platform?

Question ID : 9864492830
Status : Answered
Chosen Option : 3

Ans
1 540 HreT
540 m
X2 630 HieT
630 m
. 480 HreT
480 m

v

& teachingninia.in




. 780 HIEX
780 m

x

Q.31

Ans

@ o7 & ¥ e e &1 999 311

Question ID : 9864494305
Status : Answered
Chosen Option : 1

€ ¥ b A

Select the odd character out of the following series.

£ ¥ 5 A

Vi A
X2y
X3¢
K4

Q.32

Ans

o 3 Feher & A A T AT S 4R T A ST A A IA G H |

FHIE 11 - 9 @1 S| TeATe A Helrer 1 H1g vl a9 87

Present ages of Sai and Satheesh are in the ratio of 35 : 4 respectively. Three years hence,
the ratio of their ages will become 11 : 9 respectively. What is Satheesh's present age in
years?

~ 121
w224
X322
X 423

Question ID : 9864492573
Status : Answered

Chosen Option : 2

Q.33

Ans

SIoeT &I AU T &
The molecular formula of Propane 1s:
X 1. C,H,
X 2 C,Hy,
o 3 C;Hg
X 4 CH,

Question ID : 9864493152
Status : Answered
Chosen Option : 3

Q.34

Ans

frafofas & ¥ #i9 @ oo F & F Az @ &7

‘Which of the following is present in the centre of a flower?

*

HsY

Question ID : 9864493358
Status : Answered
Chosen Option : 1

W
Carpel
SrEdcel
- Sepals
P O
Petals

R L #581
Xa 2
Stamen

x

Q.35

Question ID : 9864493753
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fevw v fawedt # @ TEr AFT AT F 999 i

Status : Answered

Chosen Option

4

People : Person

Choose the correct analogous word pair from the given alternatives.

People : Person

Ans - X 1. Radius : Radii
# 2.Cacti ;: Cactus
v 2 Fungus : Fungi
# 4 Nucleus : Nuclei

Q.36 & =18 Il @ @ w & v 3mEeTE FaEoA Wl fmnd frEew
gl

Question ID

: 9864493924

Status : Not Answered

Chosen Option

The minimum number of straight lines required to construet the given figure is

Ans of 111
X212
<39
X410

Q.37 FH WEIT 9T TS WIEESE & Hg-UEUNE A Ales, ARdT Sear

& ATH G137

Name the Indian entrepreneur, co-founder and owner of India’s low cost airline SpiceJet.

Question ID
Status
Chosen Option

19864492364
:Answered
4

Ane x , e SR, I
Captain G.R. Gopinath
o o= Acoar
Vijay Mallya
F .3 g cIE]
Ratan Tata
4. i ﬁg

Ajay Singh

v

Q.38 #fg forel =afde & T60H TH IEG F WEHT W 25% W W a7 @ ar |
5 F e Aem w4r ur?

If a person bought an item for T 60 and sold it at a profit of 25%, the selling price of the

Question ID
Status

19864492788
:Answered

item would be: Chosen Option : 3
Ans X' 1. F 84
X2T72
W3 TT75
X 4 T80
.39 ; ¢
39 st #WC‘H'UI H fabetet I{ATOT AT Question ID : 9864493547
Status : Not Answered

How many atoms are present in one molecule of Ozone?

Chosen Option :

& teachingninia.in




Ans X 1 4
X 21
X32
W3

Q.40 F=fiex go= ¥ T A 5 I T TF aeoT F1 HFR OF e
9T & FU OF & e (frustum) SHT §) e (frustum) @ Al @ 5
HémheT it 2 BdeT &, ¢ ewws @ FEE 7 @6t §) auh i
e e i D e

A shuttle cock used for playing badminton has the shape of a frustum of a cone mounted
on a hemisphere. The external diameters of the frustum are Sem and Zem, the height of the
entire shuttle cock is 7em. Find the external surface area,

Ans 80 F=T TarHARET
v &t

80 cm®

73.38 T WX
73.38 cm?

74.29 T HWEHRT
74.29 cm®

74.30 T HEHRT

74.30 cm?

A4 gy g i gt F: Fr A 32
What is the mean of the first five Triangular Numbers?
Ans X' 1. 8 L
V27
X6
K45

> 2

< 3.

X 4

Question ID : 9864492591
Status : Not Answered
Chosen Option : -

Question ID : 9864492557
Status : Not Answered
Chosen Option : ==

Q.42 frar wifffa & 5 39 BieT 81 8 99 vzl Brer & 3H # i = 9T F IAF
ZFE F 10 39 s wnl fEer Fr a5 3F g

Krish is 5 years vounger than Parthiv, Eight years ago three fimes the age of Krish was 10
mote than twice the age of Parthiv. Find Erish's present age.

Ans 28Ty

Question ID : 9864492752
Status : Answered
Chosen Option : 3

W
238 years
x 5 32 Iy
32 years
x5 33 Iy
33 years
> . 30 Iy
30 years
Q43 | v FiEow 87 9, S 37 T8 W B 9 Tl TRy A H | Question ID : 9864492113
fasToT R T am

. @ Muslim saint, lived at the place where Fatehpur Sikri was built.

Ane oo ST BT

X
Baba Fakruddin
- AR e
~ 2. o
Nizamuddin Auliya

Status : Answered
Chosen Option : 2
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Sﬂiﬂﬁﬂﬁﬂmm

X 3.

Nasiruddin Chiragh Dehlavi
) g el f=redr
 Sheikh Salim Chisti

Q.44 4:37 gEY &g % TR W Pae § g5 #@v uT & gt & 99 e A |

FIUT FAI?
What will be the acute angle between the hour-hand and the mimrte-hand at 4:37 p.m.?

Ans X 1.18.5°
v 2 835°
< 3.18°
X 4+ 65°

Question ID : 9864492773
Status : Answered
Chosen Option : 2

Q.45 1, Frzy o TFE & AT F TY RIEERT @9 Jer 0.5 BdnE a==1 fiw fr
=fa=s = fraer 2ef
The kinetic energy of a ball weighing ©.5 kg moving with a velocity of & m/s will be:

Ans 16 STt
X1 "
16 J
L Sel
w2
LJ
- 83
xKa =
8J
12 49e
4 o
12J

Qb Rrr s e A sk Gir s F e tssRe =
FF T FUF T §

TP F MRS 5ET W A | AT Z o 3 & PIE e 8T O
QAaT F AMEe?

FYA:
1.4 Z Yord w2or W AR & 10 #= 9@T v 9
2. g9 F 11 &= UF 3o ¢ 3 I3 oo T K 12 9 g

Consider the given question and decide which of the following statements is sufficient to
answer the guestion.

The trains are very punctual in Malaysia. For a maximum of how long should Mr. Z wait
for the train?

Statements:

1. M. Z had reached the railways station at 10 a.m.
2. There is a train at 11 a. m. and the next train is at 12 p. m.

Ans ¢1_aﬁm13ﬂ12w‘rﬁ§l

Both statement 1 and 2 are sufficient.
~ 2
3Hehel FUF 1 U § TS 3hel HUFT 2 HUATT 2l

Statement 1 alone is sufficient while statement 2 alone is insufficient.
x5 I af FUST 1 AT g 4T 2
FEither statement 1 or 2 is sufficient.
X 4
HFT FYT 2 TIT § FaTH Hebel 1 FUF 94T gl

Statement 2 alone is sufficient while 1 alone is insufficient.

Question ID : 9864493460
Status : Not Answered
Chosen Option : ==

Question ID : 9864493653
Status : Answered
Chosen Option : 1

& teachingninia.in




Q.47 fdfr Hifsw B P @1 frerd u 1T Foe F7 FHIOT T T

LEH
Al Fed o7 @ ¥ = geear 7 & 9l gaga o Al = & 9wt

Question ID : 9864493810
Status : Answered
Chosen Option : 2

Jor 3T AT T & A 7 Fo T E

e
1. Tl Sant @ 95 o s o)
2. T st F et & S & R s s et

Decide which of the conclusions logically follow(s) from the information given in the
statement.

Statements

Poverty is increasing because politicians don’t understand poverty nor do they know
anything about the problems faced by the poor.

Conclusions:

1. All politicians should be replaced.
2. All politicians should be asked to live in poor conditions,

Ans | 1 3 2 @& agEor & §
Both 1 and 2 follow

Fael sy 2 ITERT T 7
2
Only conclusion 2 follows

3_Era’r13ﬂt;r€fzaqwmm%

x

4
WNeither 1 nor 2 follows

x hael TASHY 1 eTERT T §
4.

Only conclusion 1 follows

Q48 RrATIfRT & i & 851 & 93 = & T F5aaw 478 2 |

Which of the following regions has the highest potential for wind energy?
Ans

x ; S & TS |

Question ID : 9864493145
Status : Answered
Chosen Option : 3

The Deccan Plateau
st e
Gangetic planes
7> L IEBP= 183 8
Western Ghats
- feATeT o

The Himalayas

x

Q49 Rw a7 ereal & WA S F AR W IIETS 06 A

miﬁ?-l':gﬂm::agaﬁz':

Question ID : 9864494239
Status : Answered
Chosen Option : 3

Select the missing word from the given related pair of words.

Ancient : Old :: Bedspread :

Ans
. T
Rerth

GIEZ’I]

Pillow

~ 2

& teachingninia.in




W s E
Comforter
BT

X 4
Couch

Q.50 fft et 1 emitas geuarE 12 § 3 S o1 4 ¥ vols o F
1 #1 (mole) & T Fr T ¥ Fi7 W Fa= TET £2

Atomic mass of Carbon 1 12 and that of Helium 1s 4. State which of the following

Question ID : 9864493408
Status : Not Answered

statements 1s true for | mole of each of the elements? Chosen Option : -
Ans X 1. )
&iferE 1 1 A (mole) #, FE F 1 A (mole) ¥ 3 I 3T R
e
1 mole of Helium will contain 3 times more atoms than 1 mole of Carbon.
W 2
FEed & 1 A (mole) 3, &fcma F 1 A (mole) & Fog R#Ey Fr TET
AT g
1 mole of Carbon will contain the same number of atoms as present in 1 mole of Helum.
X 3
FIA4 & 1 Hiel (mole) #, 2o F 1 el (mole) & SABET $1 He v
(GEERE

1 mole of Carbon will contam one-third the mamber of atome present in 1 mole of Hahum.
5 4

FE @ A 1 (mole) 7, T F 1 A (mole) & 3 I 3T K]

g

1 mole of Carbon will contan 3 times more atoms than 1 maole of Helinm.

Q.51 s & HoT FARYS (FBe s B R FE F B 2017 F |
vHE d% & ‘T wiee w1 4 AT 87 ‘

Which major bank has launched the ‘Unnati Credit Card® in 2017 to enhance cradit
inclusion in India? ‘

Question ID : 9864492418
Status : Answered
Chosen Option : 1

e g TEELITE,
~ SBI
x , T &%
Axis Bank
5 5, TLELTRAL. CEn
HDFC Bank
x4 HE WA HIE. oF

ICICI Bank

Q.52 waif arer fFw o F wfeqdli & mifee & o & ot Ser v € ¢
In which of the flowering planis are buds produced in the notches along the leaf margin?

Question ID : 9864493317
Status : Not Answered

Ans .
' E'ITﬁﬂFIEEr Chosen Option : -

| Bryophyllum

Q.53
Question ID : 9864494147

& teachingninia.in




Ans

ferfofta & 4, waftes (7) & Sfe feww oiv seer, o 3mT
Fatead &) faw orw feedt 7 F Heuieyd R 7 a9 w{)
A, BC, DEF, GHIJ, ?

In the following series, one term is missing as shown by the question mark (7). Select the

missing term from the given options.
A, BC, DEF. GHII ?

X 1. XYZA

X 2. PQRS

v 2 KLMNO

A 4 TUVW

Status : Answered
Chosen Option : 3

Q54 gfE cosecO® + cot® = 2 B @l cot =7

Ans

If cosec@ + cot@ = 2,thencot@ =7
K10

<205

X1

v 4075

Question ID : 9864493038
Status : Not Answered
Chosen Option : =

Q.SSMﬁ'@waﬁmmgﬂwﬁﬁhmﬁﬁmmm#;ﬁ%

Ans

fw gv Fla ¥ T e s ww #
2 CH
Fo afFmar = #
wft sl gfewe B 2
forerd:
1. Tl sfdaar giemm &)
2. @l sAarr sfEEar 8

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
Some actors ave businessmen.

All businessmen are intelligent.

Conclusions:
1. All actors are intelligent.

2. All businessmen are actors.

Fae fsHY 2 HJEOT FIAT &

Only conclusion 2 follows
W 2
a1 3R T & 2 FaEter AT ¢

Neither 1 nor 2 follows

Fao [y 1 HFEIOT HAT &
Only conclusion 1 follows

1 3R 2 gt g ww §
Both 1 and 2 follow

.

& 3.

*

Question ID : 9864493756
Status : Answered
Chosen Option : 2

Q.56

Question ID : 9864493966
Status : Answered
Chosen Option : 1
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T a7 T A wAETES w8 3R @A F sE 3o & ¥ v PR
wual # ¥ Fi e B

gipfas dEae A, B €, D 3 E & & favy swd sa-d 2

CLG

1. A, B, C, D 3t E wipfas e #
2. B 38w HWET §l

Consider the given question and decide which of the following statements is sufficient to
answer the question.

Which of the natural numbers A, B, C, D and E are odd numbers?

Statements:

1. A B, C, Dand E are natural numbers.
2. B is a prime number.

Ans ?(1-
T T TR & IooW 2 F BT 2 wom qUm ¥ Sefy 1 36Rem gaea waY
&l

2 alone is sufficient while 1 alone is not sufficient to answer the given question.
~ 2.
T 71T 99T &1 3ea¥ 37 & e 1 3y 2 =t 93T &

Both 1 and 2 are sufficient to answer the given question.

X 3
foT T TR & IR 2 F BT 1 won TUm ¥ SefE 2 36Rem gea Y
&l

1 alone is sufficient while 2 alone is not sufficient to answer the given guestion.
_d( 4,
Resw g #r s e & Roear ar 1 sl a7 & 2 gaem &

Neither 1 nor 2 is sufficient to answer the given question.

Q.57 L Ak r
A eT 1v el # W Wefd =g &1 939 % Question ID : 9864493639

Status : Answered
Chosen Option : 4

qfeT - HEeaT ;AW

Select the related word from the given alternatives:

Examination : Success :: Matches :

Ans
X1 eI
Prepare
X 2.
Afttempt
fehere

. Cricket
IEED

| Victory

X 3

W 4

Q.58 900 e Fr v Bfs &, Feher e w270 e 3 Ak v F340 A F W
T £ 5 2i5 F fome T = e Few & e sem

In a 900 metres race, Sathish beats Kiran by 270 metres and Rahul by 340 metres. By how .
many metres does Kiran beat Rahul in the same race? Chosen Option : 4

Question ID : 9864492610
Status : Answered

Ans X 1.140
X 220
W 3100
X 470
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Q59 g fireet e AT S 2 W 37 & 3o ¢ oae sgtaFH Question ID : 9864492542

Find the fraction which is as much greater than% as it is less than 2: Status : Not Answered

Chosen Option : -

Ans . 58
1 L —
X i

w22

a4

X3z

a5

X2

59

Q.60 T &1 77F uedE WFHT F FAA UF AN TANT F A HHF &80 FH AWE

@ "t arel e WHE & Question ID : 9864493751
Status : Not Answered

@ @ @ \ Chosen Option : -
(h DA
XN=|®

7

Use each of the below figures only once and form three groups. The three groups so

formed are:

&) P |©
CHD|A
22| @
A x1.(1,5,9), (2,3,6), (4,7.8)
X2(1,3,8), (2,5,6), (4,7,9)
v:(1,3,9), (2,5,6), (4,7,8)
< 4+(1,3,6), (2,5,9), (4,7,8)

Q.61 & 71§ jmor & o 8 2F ¥ S s ¢ Y w=w d R A 8

ST aTfeet o # wEw ¥ A R A § Question 1D : 9864494074

Status : Answered
Chosen Option : 3

563248889266588343

In the given series, how many 8s are there that are not divisible by the number to its left
but completely divisible by the number to its right.

563243880266538343
Ans x 1. 4
X22
v
X 43

Q.62 grsfarer A FaENr FTE TAT Repear Tt Fa, B F ¥ By o= w9 =g
e 22

Which is the form of energy that does NOT occur while riding a bicycle?

Question ID : 9864493041
Status : Answered
Chosen Option : 3

0 s, FSEE Sl
Heat energy

, Tt B
Kinetic energy

x

& Teachingninia.in




3_mmﬁa:ﬁfr

v
Chemical energy
i T
& 4
Mechanical energy

Q.63 ws =ufFa g7 #r T 10 Fraex aoer & @ o v g5 s ¢, 8
Talleiet =orar 8 3 e a3 3 A3 Siar 8 3l 6 Treli#iex goar 81 a8
=Fg ¥9 3o st R s w R d

A man walks 10 kins towards east. then takes a right turn and walks 8 ki and again takes

a left and walks 6 km. In which direction is the man with respect to his starting position? -

", GET aiRaH
South west

| 3ccaX afeTH
North west

3R 94

North east
Sfeyor g3

W 4 b
South east

*

*

Q.64 10 y=m =7 femy R a5g @ ROFT Hpw T4 Wl 370 H IR A s
o freer wfea #r arfer g

The selling price of an item inclusive of a 10% profit was T 440. What would be the
percentage loss if the item was sold for ¥ 3702 ‘

Ans  of 1. 7.5
X 28
X 3.6.25
X 48.4

Question ID : 9864493687
Status : Answered
Chosen Option : 4

Question ID : 9864492748
Status : Answered
Chosen Option : 1

Q.65 frzw & vF 2.5 A Far o § S HARH Fy 3 dgaw afd ¥ o |
e 7 wiEe 3 e anT e waEiE aer F e

‘Freedom Trail’ is a 2.5 mile long passage that offers a rich insight into the American
Revolution. In which US city would you find this famaus and historie trail?

Ans a’:'m
W
Boston
ATFPFE
Memphis
X 3 CEER
Denver

FATFCHT

Connecticut

N2

X 4

Question ID : 9864492122
Status : Not Answered
Chosen Option : ==

Q.66 ﬁm’ gl EFi’“

Question ID : 9864492879
Status : Not Answered
Chosen Option : -

(81— (= 2) * (- 8)} =7

Solve the following:

CH{9-(2) x (-8)} =7
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Ans

X112
X 2 2140
X 3140
v 12

Q.67 v e F LT, (pH) A3 ¥ ST, (pH) AT SCoid 6 @ T &, Ja HE |

Ans

T 1 Wi e 2 S i

The pH of a sofution is 3. When its pH changes to 6, then H*ion concentration:

1 2 T[T 9 A &

increases 2 times

Z_ﬁnTgaIaa:néT%i

increases three times
1000 3TAT A
v, 10007 8l S gl

decreases 1000 times
41003§araﬂTgTEnﬁr%l

decreases 100 times

x

x

*

Question ID : 9864493070
Status : Not Answered
Chosen Option : -

Q98 e & @ whe i de v o

‘Which of the following numbers is a perfect square?

Ans

W 1441
< 2192
X 3333
X 4327

Q.69 eafygara 333 ms* =T ¥ A FIAT &: §H IS, | FFSH, 333 Her gl |

Ans

[CR:EaCiniter ko de iy

Sound travels at a speed of 333 ms™ " in the air; thus, in 1 s, a distance o 333 m is

travelled by:
.0 HId
source
v, FRE

disturbance
HOT

3.
particles

frdET

receiver

~ 4

Question ID : 9864492500
Status : Answered
Chosen Option : 1

Question ID : 9864493083
Status : Not Answered
Chosen Option : -

Q.70 f®g & T 175 H & F1 T e WGl TWeg [ FiF # TeA & 5 O
3 59 T 161 # a9 femm & = fhew whmw #r af g

Deepti bought a set of cups for T 175, but then had to sell it later to clear old stocks for T

Ans

161, What is the percentage of loss that she had to incur?
X116
w28
X7
X 414

Question ID : 9864492688
Status : Answered
Chosen Option : 2

Q.71

Question ID : 9864494055
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37 RFeT 7 w9 H S & 7 W & NEw ' & B svged g Status : Not Answered
Chosen Option : =

Problem Figure

Y/f

NE

Select the option that fits in the blank space in the given Problem Figure.

Problem Figure

N
N

Ans

W

X
_ < fanl
>\fJfA .

72 -
Q " =g #T A Question ID : 9864493676
aasT siielar | garg T Status : Answered
2001| 1,500 | 2200 | 2500 | %100 Chosen Option :4

2002 | ¥2,600 | T300 | T600 | T200
2003 | ¥3,200 | ¥150 | T 700 | T 150
2004 | T4,100 | T250 | T650 | T125
2005| ¥5,000 | T200 | ¥ 800 | T150
2006 | ¥5,200 | ¥100 | T750 | 2175

gfa ¥ 3igg 399, a¥ 2001 - 2006 & SO fOder 2

Items of Expenditure

Salary | Food | Medicine | Tax

2001 | ¥ 1,500 | ¥200| T 500 £ 100
2002 | 2,600 | 300 | T 600 T 200
2003 | ¥3.200| %150 | T 700 < 150
2004 | ¥4100| 250 | T 650 T 125
2005 | T 5,000 | T200| T 800 T 150
2006 | ¥5200 %100 750 3175

Year

The average salary per year during period 2001 - 2006 is:
Ans < 1. 3,400
~ 2 3,800
~ 33,500
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v 4+ 3,600

Q-73mﬁﬁ?#ﬁaﬂw$ﬁv3qgﬁﬁ?$rm;ﬁﬁ$ﬁﬁqﬁﬁﬂaﬁl’ .
Question ID : 9864494133
Status : Not Answered
Chosen Option : -

TTXEE
OB
] 7
F

A B C D

HATA =7 - Problem Figure
oo & - Answer Figures
Select the Answer Figure that fits in the blank space in the given Problem Figure.

xR
SRS
=K

Answer Figures

Bl ||

A B C D
Ans ?-‘\’1(:
X2D
v:B
XA

Q.74 & =% IR | fEw =X 3 a7 A & @ wumomsd # @ S @ ’ :
: = iR Question ID : 9864494070
safafeT 21
Status : Not Answered
Chosen Option : -

B IESH

X, Y F oo I ¥ ofy o weue O 9o e Trgay aear ¥ At oW
HTENTETH T TR

TR

LN

1. FEHTETH 3o waU FET Wo T D
2. X, Y g@wT & 7 "eng Fe

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
X advised Y that if he/she wants to study Management, he/she should join ITM.

Assumpftions:
1. IIM provides good Management education.
2. X listens to the advice given by Y.

Ane 1“'M134“I1r2ac‘rf‘rtgj:n"zlrz*mrt?3JiE|‘|"ir‘11%Fr%l

Both 1 and 2 are implicit.
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xz_srr-fﬂsﬁtu‘rr?fzﬁ?lﬁﬁﬁﬁl

Neither 1 nor 2 is implicit.

| e TEUROT 2 FHefeted 2
Only assumption 2 is implicit.

, el JEEROT 1 e

Only assumption 1 is implicit.

x

x

Q.75 Hier ©r 3caT-3F(T (Answer Figure) &) @18 9o 3Ry (Problem Figure) &7 |

PP S Question ID : 9864494057

Status : Not Answered

Chosen Option : ==

Problem Figure

=

Answer Figures
T T
49 F I
>, wl \
A B L5 D

Which of the Answer Figures is the correct water image of the given Problem Figure?

Problem Figure

=

Answer Figures

IR Al

B C D

A
Ans & 1. B
X2D
VA
X4C
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